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Two last ingredients to study electrarc structure

① Spre
② Time-reversal symmetry

① So far GCx03
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completely in the space of electrospin

Spinerdependent

If we have SOC
,
we read to use

representations of SU/z) to describe how
rotations act on spin

Reminder : SU/2-greng of ziz

untary matrices w/
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Euclidean grap by a new element I

E = E



eE) = IdentityMatrix -2
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Isisomorphom theorem

SUR is a double cover
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For rotations
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For spine particles, symmetry graus of
Hamiltarens will be subgrangs
⑭Xin
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1306 doubte space grengs

If y is a representation of a double grand

① y(E) = x(E) - y is a single-valued representat
- y is also e representation of "ordinary
space groups
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operatorResolution : T is an aey

Definition of an andrunbary operator :
Let SIV :/ be a set of basis
vectors

I us an antrumitary operator if:
-
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Exi spine garticles I basis
11 states
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Also. IT I - we want

I to commute/ all spatial symmetries
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T UpUE = X

Up xUT = YU

Spin-statistics theorem
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